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I INDIAN SCHOOL MUSCAT
g MIDDLE SECTION
FIRST TERM EXAMINATION 2018-19

SUBJECT - MATHEMATICS
CLASS: V SAMPLE QUESTION PAPER

General Instructions :

1. The question paper comprises of four Sections, A, B, C and D.
2. You have to attempt allthe sections.

3. All questions are compulsory.

4. All answers should be written in the answer sheet provided.

SECTION A

Qns

1(a) The successor of the smallest 6 digit number is

Time Allotted: 2 Y2 Hrs.

Max .Marks: 80

1(b) The sum of the place value and face value of 7 in 236785 is

1(c) An angle that measures more than 90° and less than 180° is

1(d) 7290 x = 729000..
1(e) The difference between 20730 and 14596 is
Match the following

1() LCMof5and6is (i) 1
1@ Lowest form of%is( i) 97

1(h) Quotientof 25 +25is (i) 45°
1(i)  Greatest two digit prime number is (iv) 30
i 5
10) The measure of an acute angle. (v) 3
SECTION B

Subtract : 28914 from 30000.
Divide 45679 by 14 and write the Quotient and remainder .

86. )
Reduce amto its lowest form.

Write down all the prime numbers between 20 and 40..
Classify the types of angles according to their measurement.
a) 180° b) 69° c) 0° d) 360°
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18
19
20
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SECTION C

Check whether the given fractions are equivalent.

a)7 2
21 7 3
8
b)_;E
3 1
%o

Write the arms and vertices of the following angles.

a) b) B

Q-
R E F

Draw factor tree for 54.

Find the first three common multiples of 8 and 12.

Find the product 7382 and 329.

Arrange and Add: 743052 + 31825 + 2763

Arrange in ascending order:98274 97248 98225 94798

Write the greatest and least 5 digit numbers using the digits 3, 2, 5, 0, 9 only once.
SECTION D

Place commas and write the number name in both Indian and International systems.
36210967.

: , _ 7
Find 4 equivalent fractions for <

Draw /ABC = 85°. Mention its type, arms and vertex.

Find HCF OF 18, 27 and 45 by Division method.

Find LCM of 48, 54 and 72 by Division method

After selling an article for Re.1250, a shop keeper makes a profit of Re.310. Find the
cost price of the article.

A contractor paid Re.11,340 to 135 workers for a day’s labour. How much did he pay
to each worker?.

15 bags of sugar weigh 600 kg. How much do 8 bags weigh?

In a town there were 34867 men, 25946 women and 17879 children. Find the
population of the town.
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